ALPOLIC and ALPOLIC/FR (FIRE RESISTIVE)
COMPOSITE WALL PANEL SYSTEMS

LARGE AND SMALL MISSILE IMPACT

GENERAL NOTES
3. THESE ALPOLIC and ALPOLIC/FR COMPOSITE WALL PANEL SYSTEMS ARE TESTED

THESE ALPOLIC AND ALPOLIC/FR COMPOSITE PANELS SHALL BE USED FOR WALL CONSTRUCTION, IN ACCORDANCE WITH THE FOLLOWING PROTOCOLS PER THE CURRENT EDITION OF THE FLORIDA BUILDING CODE:
SOFITS, AND OTHER EXTERIOR DETAILS WHOSE REQUIREMENTS FOR POSITIVE AND NEGATIVE
TAS-201-94, IMPACT TEST, LARGE MISSILE

PRESSURES ARE WITHIN THEN VALUES STATED IN NOTE 2 OF THIS DRAWING. EACH ACTUAL WALL TAS-202-94. UNIEORM STATIC AIR PRESSURE TEST

PROJECT SHALL BE CONSTRUCTED USING THE DETAILS SHOWN ON THESE DRAWINGS AS MINIMUM ’
R EOUIRED SPECLICATIONS TAS-203-94. CYCLIC WIND PRESSURE TEST "
2. THE WALL DESIGN ALLOWABLE PRESSURES FOR THESE WALL PANEL SYSTEMS ARE + 70 PSF/ -90 PSF. AND THEY SHALL BE INSTALLED ON FRONT OF A 5/8" (5 PLY) PLYWOOD SUBSTRATE

SUPPORTED BY STUDS AT 16" O.C. AS SHOWN IN THESE APPROVED DRAWINGS.

MATERIAL SPECIFICATIONS:

1. MATERIAL: M2, F2, A2, HS, and HR ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By Kistler McDougall. 1. STEEL STUDS AND TRACKS: 16 GA. MIN. GALVANIZED STEEL WITH MIN. PROPERTIES OF 50 KSI YIELD, 65 KSI ULTIMATE.
2. MATERIAL: 37893 (CAY-1009) TEE, 37894 (CAY-1010) FEMALE, 37899 (CAY-1011) MALE, 385008 (CAY-1012) STIFFENER 2. ggg g %ﬁgﬁ Eﬁgﬁmggg ﬁ]g X Hg :B(( mg:gg :Eﬁg THEEQS%ELUETS(TTBE#FT\‘/‘\} ‘éﬁﬁ;i g\éF'{TEV\‘/’VBU'LDEX SCREW OR
AND 38499A (CAY-1013) RETAINER ARE EXTRUDED ALUMINUM ALLOY 6063 WITH A T6 TEMPER By SAF Metal Fabication SHlex '
. . , X
(FORMALLY CAY ARCHITECTURAL PRODUCTS). 3 PLYWOOD: 5/8" THICK, (5 PLY) EXTERIOR GRADE SECURED WITH #8 x 1 5/8" ITW BUILDEX TEK SCREWS
AT 16" 0.C. AROUND PERIMETER AND IN THE MIDDLE OF PLYWOOD.
3. FINISH: MILL FINISH 4. PANEL FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS SPACED AT 16" O.C.
5. STIFFENER FASTENERS: #10 x 1" HEX WASHER HEAD ITW BUILDEX TEK SCREWS.
6.  JOINT SILICONE: DOW CORNING #795 SILICONE SEALANT.
COM POSITE PANEL 7. STRUCTURAL SILICONE: DOW CORNING #1199 SILICONE SEALANT.
ALPOLIC AND ALPOLIC/FR ALUMINUM COMPOSITE METAL PANEL 4MM THICK (0.157") AND 6MM THICK (0.236" ;
AS MANUFACTURED BY MITSUBISHI PLASTICS COMPOISTES AMERICA, INC., HESA)PEAKE VA (023" 8. BACKERROQD: 3/4" DIA. DENVER FOAM OPEN CELL BACKER ROD.
2. CORE: THERMOPLASTIC MATERIAL WHICH IN COMPOSITE ASSEMBLY MEETS 9. THE STRUCTURAL ADEQUACY OF THE 16 GA. GALVANIZED STEEL STUDS AND THE REST OF THE STRUCTURAL
PERFORMANCE CHARACTERISTICS SPECIFIED. FRAMING SUPPORTING THE METAL PANELS IS NOT PART OF THIS PRODUCT APPROVAL DOCUMENT
3. FACE SHEET: 0.020" ALUMINUM 3105-H14 ALLOY AND IT SHALL BE REVIEWED BY THE PLANS EXAMINER OF THE CORRESPONDING BUILDING DEPARTMENT.
4. FINISH: FLUROPOLYMER RESIN COATING.
5. MAXIMUM DIMENSIONS: 62" WIDE X 288" LONG Digitally
6.  TECHNICAL DATA signed by
DESCRIPTION TEST AMMALPOLICRESULTS ~ 4MM ALPOLIC/r RESULTS ~ 6MM ALPOLIC o .‘9-?’;%?’ o @ . Robert J
SPECIFIC GRAVITY 1.38 1.90 1.23 s s e
WEIGHT 112 LB/SQ.FT 1,56 LB/SQ.FT 1,50 LB/SQ.FT 2 52 Amoruso
TENSILE STRENGTH ASTM E-8 7452 PS| 5693 PS| 5399 PS| : ¥ iz Date:
EII_EOLI\?GSA-I-TRISNGTH ﬁ§¥m E-g !]\IBDO/Y QIO9Y '1\]3D0/Y ' .... o 0:' ::g}u‘g ate. PTC PRODUCT DESIGN GROUP, LLC
- 0 0 0 B ”P VB e\‘@“ '
PUNCHING SHEAR RESISTANCE (1'DIA.) ASTM D-732 4025 PS| 4637 PS| 2816 PS| %,,,,0;; new 2022.03.17 A S | \:1,000 FLORIDA 32752
PUNCHING SHEAR MAX LOAD ASTM D-732 1920 PS| 2259 PS| 2121 LBS FrhNE . oo
BOND INTEGRITY VERTICAL PULL ASTM C-297 1806 PSI 427 PS| 1664 PSI 16:33:22 Bl o@ic-oorm.com
DRUM PEEL ASTM D-1781-76 33,6 IN-LB/IN 27.6 IN-LB/IN 33.6 IN-LB/IN o _______
EIAAFEV\&S:EB SEEI/N{G ﬁgm gggg 1C2C215 PS| 949 PS| 1195 PSI -04'00 MITSUBISHI CHEMICAL COMPOSITES
- - - TFII;iz/'\I'II\LI\TS AREI:JECIM/‘\LS ANGLES AMERICA’ INC'
leweoie..  RmER g ; ;
SELF IGNITION TEMPERATURE ASTM D-1929 752°F 837°F 752°F RN e e sss—] " M & 6MM ALPOLIC
FLASH IGNITION TEMPERATURE ASTM D-1929 716°F 811°F 716°F R IAI4 24 14l = oo T & 4MM ALPOLIC/r ENGNEERNG | P COMPOSITE WALL PANEL SYSTEMS
SURFACE FLAMMABILITY ASTM E-108-88  PASSED PASSED PASSED S R JA[6/10/ 12w v s S
SOUND TRANSMISSION ASTM E-413 STC-26 - STC-26 4 | TH [1/05 1o TSRS P oo | B © MPcAOO! .
3 | TH |9/04/09| ArcrrrecTural pranucts PRODUCTION
Rev. | BY | DATE | chnce DO NOT SCALE DRAWING SCALE SHOWN [steer 1 OF 11




15'=0 1/2"
FRAME OUTSIDE DIMENSION
\ 149 1/2"
11/2 - / 11/2"
FRAME INSIDE DIMENSION —
12
1/2" PANEL DIMENSION __(_ 1/? PANEL DIMENSION /27 ||
y
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 4
| 1 1 | T 1 [ T 1 1 1 1 1 |
| (| |1 \: 1 (| (! 1 |1 |1 (| (| |1 |
| |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |1 |
: o I . ] i ] ] ] ] ] 1
‘Q:'_ | | | STIFFENER = || | || || N N | | N |
- i I ] ] | ] I
+—--t—--— -+t - —— - —ft-—— -t —— - ——tf—— - —— b — - ——-H4— - —— -t - —— -~ - —— - —|- - —H
B e e B | e o e R e A o e e el I ey A It I E i R N I
= | |1 |1 | |1 |1 a |1 |1 |1 |1 |1 |1 |1 |
% o . | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
= .| &% | || N I 1 N4/ 1 I | | || || | |
Z o ¥ g . | | | STIFFENER — | | | [ [ [ [ | | [ [ | |
g |2 = — | N /ll | || N N || I I N N I |
~ | a ~ | = | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
Slw =3 = I 1y A g Py [ O [ Ay AU [ Mgy |
o | 2 o = 4+ oy v 9 L v _ ‘- - 4 - - - ‘1 - - 11 LI 1
] v | g E | (| |1 | 1 (| (| 1 |1 |1 (| (| |1 |
Rl o JN LD i i i i i |
= ]
s | o7 1 N | i i i i D
~ | — |
g E > @ | |1 I\\yl |1 |1 |1 |1 |1 |1 |1 |1 |1 | @
o | I I | I I I I I I I I I 1l | oPPOSITE
| | | | | | | 1 | | | | | 1 | | | | | | | | | | |
= L0 o i 1 e 1 i | | i i o
e | I . D i i I i .
I Z& | || I | || || | | | || || | |
— o= | | |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
o | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
‘ | | :\ |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
| PR I L L L L L L L L L !
\ /
. \/ 1
N N 2x6 — 16 GA, METAL STUDS @ OPPOSITE o ,
= @ 16" 0.C. s, Digitally signed
— by RObertJ PTC PROD;J(OJLgiSSIEOI\;%ROUP, LLC
i 2 AMOruso N E ooz
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING iz Date: Poe: 2150788 210178
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED R ometiSE 2022.03.17 ' ‘
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. “SHRes 63337 104100" Kistler McDougal
o DS e MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
AMERICA, INC.
PANEL ELEVATION Robert . Amoruso, PE. LR B e
n AN FLP.E. No. 49752 MATERIAL — DRAWN ALPOLIC and ALPOLIC/fr
3/4"=1'-0 T TRV B ] Samaroior o COMPOSITE WALL PANEL SYSTEMS
o MS | 11111102
5 ?JA 6/10/12 iniddidind PROJ MGMT SIZE | CAGE CODE DWG NO. REV
4 | TH | 1/09/12 ] ismm et tommts ws et v | B MPCA0001 7
3 TH 9/04/09 DO NOT SCALE DRAWING PRODUCTION
REV. | BY DATE | CHANGE SCALE SHOWN |SHEET 2 OF 11




15'-0 1/2"

WOOD BUCK FRAME

CONNECT WOOD BUCK FRAME TOGETHER
WITH (3) 5/16” DIA. LAG BOLTS
EACH CORNER (TYP.) . , . .
1 1/2 14'-9 1/2 METAL STUD FRAME DIMENSION 1 1/2
=Q 6" 16 GA. GALV. METAL TRACK ADD A STUD AT 2 x 10 WOOD BUCK FRAME
— : TYPICAL TOP & BOTTOM PANEL JOINT LOCATION / AROUND OUTSIDE PERIMETER
AN
X
T
|
|
|
Z |
S
" 5 |
= =
5 < 2 |
L o > [ |
S L -8 |
= = E |
a L M | o |
Q )
= 2 |
wm
. = EDGE OF |
< L PLYWOOD |
o |
Wl & SIS U S | | IR o] ] I H /]
o |
- =C\l [
° /8 |
7 ? |
|
|
7
7
15/8 Q
9 1/2" 11_411 1:_4” 11_411 11_4n 11_411 11_411 11_411 11_411 1:_411 11_411 8:1
| | | | | | | | | |
CENTERLINE DIM.
2-7 3/4" . . (TYP.)
gALi(/ 1M—E5T{€ 51T8D(S;A' THE WOOD BUCK FRAME DETAILED IN THIS DRAWING IS FOR TEST PURPOSES
50 K‘Sl YIELD (TYP) ONLY AND IS NOT INTENDED AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.
. T —T e\“;\\z\lﬁvii?gfi{f?"p, D|g|taI|y signed
{ { S «\{g: 019/:,2 by Robert J PTC PRODLJ(())L gisslgol\; 7(35R0UP, LLe
- - b i Amoruso Vo7 =il
6 1/4" 23 lomle o 465 Dater e opamem
LaitomokaSs 2022.03.17 :
I e 16:33:50 -04'00" Kistler McDougall
STEEL TRACK :33:50 - DIMENSIONG ARk I INGHES CONTRACTRO. MITSUBISHI CHEMICAL COMPOSITES
oo sEchALS  ANGLES AMERICA, INC.
» Robert J. Amoruso, P.E. R iixi 'gas £ APPROVAL! DATE
15/8 STUD FRAMING ELEVATION FL PE. No. 49752 e ki - ALPOLIC and ALPOLIC/fr
3/4” = 1'-0" g ;:2 :;;Z:Z e S FINI§14MMALPOLIC/fr RGREERG — COMPOSITE WALL PANEL SYSTEMS
6/10/12 | veome 10 210 rec
METAL STUD i ?_-ll\ 1;09;12 o PROJ MGNT SEE CAGE CODE DWG NO. PCASDO] R7Ev
RS\/ BY-I Q/II)D::F/EDS ::’::ss DO NOT SCALE DRAWING Fronvern SCALE SHOWN |SHEET 3 OF 11




#12 X 1 1/2” HWH WOOD SCREW
@16” 0.C. TO MAIN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4” DIA. OPEN CELL
BACKER ROD (TYPICAL)

-~

ATTACH EACH STUD TO TRACK

W/ #12 x 1 1/2" HWH
ITW BUILDEX TEK SCREWS

TWO (2) EA. SIDE

S
N
]

-

#10 X 1” HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

NN

4MM OR 6MM ALPOLIC
OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE

A3
alz]
N
A0,

:
e —>41+4

=

N

<1

#12 x 1 1/2” HWH TEK SCREW
16” 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

2 1/ |

PANEL

MIN.

ANERAN

HS EXTRUDED ALUMINUM
PANEL STIFFENER

A2 ALUMINUM
EXTRUSION

l=—— 6" X 16 GA. =

GALV. STEEL STUD

16" 0.C.
71"\ DETAIL
\U SCALE: 6" = 1’

AN

5/8” — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ #8” x 1 5/8" BUILDEX

SCREWS @ 16" 0.C.

DOW—CORNING #1199 /

SILICONE SEALANT

HR EXTRUDED ALUMINUM /

PANEL STIFFENER

AN

=

[

#12 x 1 1/2” HWH TEK SPACE
16” 0.C. (FASTEN TO STUDS)

NV

k— 2" —

l=— 2 1/4” MIN. —=

——— PLASTIC SHIM SPACE
(AS REQUIRED)

l=—— 6" X 16 GA. =

GALV. STEEL STUD
16” 0.C.

7“2\ STIFFENER DETAIL

/

\U SCALE: 6” = 1°

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

#10 x 1” HWH TEK SCREW
16” 0.C. TYPICAL EACH PANEL

2 1/4”
MIN. =

5/8” — (5 PLY) PLYWOOD
TO STUDS

W/ 8" x 1 5/8” BUILDEX
SCREWS @ 16" 0.C.

A\N

M2 ALUMINUM
EXTRUSION

BACKER ROD
AND SEALANT

EXTRUSION

BSS 2022.03.17

Sl A
“5/ ONAL EL W
13503353008

16:34:00 -04'00'

Robert J. Amoruso, P.E.
FL P.E. No. 49752

F2 ALUMINUM

#12 x 1 1/2” HWH TEK

.
\PLASTIC SHIM SPACE

(AS REQUIRED)

A\NVAINN

l=——— 6" X 16 GA.
GALV. STEEL STUD
16” 0.C.

A\N

/"3 JOINT DETAIL
\\U SCALE: 6” = 1’

16" 0.C. (FASTEN TO STUDS)

—_—

FASTENED

SCREW

RJA[/14/17]E e o irsumst cevca
RJA /24714 PaTE T cursent Edmn o T Fac

RJAJ6/10/12]woam 1o 2010 mc
TH 1/09/12@'”“‘“

(ZIE 8 [ R

TH s, /04 /09 m%m
BY DATE CHANGE

]
m
=

PTC PRODUCT DESIGN GROUP, LLC
7 PO BOX 520775
r' LONGWOOD, FLORIDA 32752
L FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789
Email: info@ptc-corp.com
Kistler McDougall
UNLESS OTHERWISE SPECIFIED CONTRACT NO.
DIMENSIONS ARE NNCHES MITSUBISHI CHEMICAL COMPOSITES
FRACTIONS ~ DECIMALS  ANGLES AMERICA, INC.
* e s e APPROVALS DATE
MATERIAL DRAWN ALPOLIC and ALPOLIC/fr
4MM & 6MM ALPOLIC
& 4MM ALPOLIC/r ENGNEERING COMPOSITE WALL PANEL SYSTEMS
. Ms | 111102
PROJ MGMT SIZE | CAGE CODE DWG NO. REV
MPCA0001 7
PRODUCTION
DO NOT SCALE DRAWING SCALE _SHOWN] [sHeer 4 OF 11




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16" DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

-

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8" 9-12 BUILDEX SCREWS 0.C.

13—

\

AN

A2 ALUMINUM
EXTRUSION

..-

L
| | ——=]
—

\ 4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

#10 x 1” HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

@ DETAIL
5 SCALE: 6” = 1’

CENTERLINE OF _ | o _f

METAL STUD

CENTERLINE OF
PANEL JOINT

6" x 16 GA.
GALV. STEEL STUD
16" 0.C.

B

— #12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS
REQUIRED

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8" 6-0 BUILDEX SCREWS 16" O.C.

AN

T

Iﬂ_lq: F2_ ALUMINUM
= EXTRUSION
2 18 M2 &L%%ggm /
MIN. L 1
I T
7‘4‘4.‘.}'!‘:3 ok jm— !
N=<V i
— 1/2" |=—

#10 x 17 HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

Digitally signed
by Robert J
Amoruso

Date:
2022.03.17
16:34:11 -04'00'

Robert J. Amoruso, P.E.
FL P.E. No. 49752

—— DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

/5" DETAIL

\\y SCALE: 6" = 1’

PTC PRODUCT DESIGN GROUP, LLG
PO BOX 520775
A ARSI | ONGWOOD, FLORIDA 32752
YV ol 4 = FBPE C.A. NO. 25935
Phone: 321,690,178, Fax: 321.690.1789
Email: info@ptc-corp.com

4/14/17 T v 10 wrsassa cocx. cownmms weca

RJA
RUA | 4/24/14 |wawe mm cowsen exnm oF nE ac
RUA | &/10/12 Im-

TH | 1/09/12 | urowases rusmcs oouposres ws woms amuce.
0/04/09 | EMND PE mouRE Lo & S e O MO

AN || O O]~

=
m
2
)
2

DATE CHANGE

Kistler McDougall
[ONLESS OTHERWISE SPECIFIED CONTRACT NO.
FRACTIONS ~ DECIMALS  ANGLES AMERICA, INC.
RS ;ix E 885 ron APPROVALS DATE
MATERIAL DRAWN ALPOLIC and ALPOLIC/fr
4MM & 6MM ALPOLIC
& 4MM ALPOLIC/fr NONEERING COMPOSITE WALL PANEL SYSTEMS
G MS 11/11/02
PROJ MGMT SIZE | CAGE CODE DWG NO. REV
B MPCA0001 | 7
PRODUCTION
DO NOT SCALE DRAWING SCALE_SHOWN] [sHeer 5 OF 11




HS HR A2
1.600
1.500 250 1.080 i 1.500 i
.750 .750 I I
£ SYM. \ .031 R.Q
| ! 938 688
C D)
.093| \FULL R®
|y l125 1.770
2.125
1.608 !
1.688
063 . .125 R -
i i\~ !
I LI X L S~ FULL R®
.080 | .250 BREAK CORNERS .010 R
.100 WALL THICK TYPICAL
BREAK CORNERS .015 R BREAK CORNERS .015 R
ACTUAL SIZE
EXCEPT AS NOTED .090 TYPICAL METAL THICKNESS
DIE DATA
ACTUAL SIZE =0
ALAL DL ACTUAL SIZE EST. AREA: .317 DIE SIZE: 6
EST. WEIGHT: .380 NO. HOLES: 1
EST. PERI.: 6.54 EXT. LENGTH:
FACTOR: 17 R/R: 51/8 =1 @ 53
DIE DATA
DIE DATA EST. AREA: .465 DIE SIZE: 6
EST. AREA: .430 DIE SIZE: 6 EST. WEIGHT: .558 NO. HOLES: 1 iShomats
Egl gEE:?(I;HT 16 E)(()T HLoEl;\IEGSTH1 5 1/8” 1 @ 35, EST. PERI.: EXT. LENGTH: 5 1/8 =10 36’ D|g|ta||y Sligned by PTCPROD;Jg'I’Bgisggoh;gROUP,LLC
- TERL: - ‘ = FACTOR: R/R — 7 i
FACTOR: R/R: / Robert J Amoruso &y okl
Date: 2022.03.17
A A Kistler McDougall
19%4:26 -0400 DIVENSIONS ARE N INCHES oo MITSUBISHI CHEMICAL COMPOSITES
Robert J.Amoruso, P.E. T?Riii'\qocﬁssAREbEC|MALs ANGLES AMERICA, INC.
FL P.E. No. 49752 e T APPROVALS DATE
7 IRJA 4/14/17 | EapaSines minica > o CHEMICAL MATERIAL DRAWN ALPOLIC and ALPOLIC/fr
& R JAfa/ae/djemr o omor o e RaMAPOLCH et COMPOSITE WALL PANEL SYSTEMS
4 TH 1/09/12 CORPOSTTES WAS e PROJ MGMT SIZE | CAGE CODE DWG NO. REV
3 | TH [9/04/09 [ ennienra e o & A PRODUCTION MPCA0001 7
rev. [ v | oae [oHanee DO NOT SCALE DRAWING SCALE_SHOWN] [sEET 6 OF 11




1.500
.562 .188 .750
083 R
063 \ 094 R | .063
.063
]
I .030 R—>/ l \-030 R .031 R
063 FULL
T 094 R |
ShGAL 1.377
1.251%
CRITICAL !
| |_.125
.6875 .6875
ACTUAL SIZE
BREAK SHARP CORNERS. 005 R.
DIE DATA
EST. AREA: .275 DIE SIZE: 6
EST. WEIGHT: .330 NO. HOLES: 1
EST. PERI.: 5.831 EXT. LENGTH: 4 1/2 = 1—- 46’
FACTOR: 18 R/R: 5 1/8” = 1- 62

2.438
.688 250 -250
.188
®
.063 .062 R. 1% lﬂ)
\—J | r
| : | I 314
.214 !
adinl C ] |
12 & X | | .276
.063 |
ORMICAL 1.377 — 083 R, 078 R.  GRoovE
CRITICAL .031 R. 6 PLACES 1.176
.125 .750 .375 .500
ACTUAL SIZE
BREAK SHARP CORNERS. 010R.
DIE DATA
EST. AREA: .484 DIE SIZE: 6
EST. WEIGHT: .581 NO. HOLES: 1
EST. PERIL.: 9.900 EXT. LENGTH: 5 1/8 = 1@34’
FACTOR: 17 R/R

Digitally signed

<,
X PTC PRODUCT DESIGN GROUP, LLC
by RO be rt .J P —— PO BOX 520775
. LONGWOOD, FLORIDA 32752
t FBPE C.A. NO. 25935
: A moruso r' L Phone: 321.690.1788,Fax: 321.690.1789)
. _.' Email: info@ptc-corp.com
B SWE or &5 Date: 2022.03.17
200 2 RINTENS i
AR 16:34:36 -04'00" Kistler McDougall
‘o, 1, NAL T . . [ONLESS OTHERWISE SPECIFIED CONTRACT NO.
LTINS DIVENSIONS ARE N ICHES MITSUBISHI CHEMICAL COMPOSITES
Robert J. Amoruso, P.E. FRACTIONS bECIMALS ANGLES AMERICA, INC.
¥ + b
FL P.E. No. 49752 T i T | aeeeowms NTE
7 IRJA 4/14/17| oieaSires airica o CHEMICAL R MM ALPOLIC DRAIN ALPOLIC and ALPOLIC/fr
6 [R.JA4/24/14|wrmr m Frere & 4MM ALPOLIC/fr ENGINEERING COMPOSITE WALL PANEL SYSTEMS
S IRJA| 6/10/12|vepate 10 200 Fec FNGH MS 11/11/02
4 | TH (1709712 | e A CPOSITES VA | PROJMGMT SIZE [ CAGE CODE WG NO. PCALDD! REV
3 H |9/04/09)| arcHITECTURAL PRODUCTS PRODUCTION !
Rev. | By | pate | cHaneE DONOT SCALE DRAWING SCALE_ SHOWN] [sieer 7 OF 11




15'-0 1/2"

FRAME OUTSIDE DIMENSION
11/2" 14'-9 1/2" 11/2"
FRAME INSIDE DIMENSION
2’—8" 12,
1/2" PANEL DIMENSION 1/2" PANEL DIMENSION 1/2"
N
= ADDITIONAL STUD @
- AT PANEL JOINT‘\ 9
I [ [ I 1 [ [ 1 [ [ [ [ [ I
| |1 |1 \: |1 |1 |1 |1 |1 |1 |1 |1 |1 |
| |1 I I 1 |1 |1 I 1 I I |1 |1 I I
: o I . ] i ] ] ] ] ] 1
‘Q:'_ | | | STIFFENER — 1 | | N | I I | | I |
- i I ] ] | ] I
+—--t—--— -4+ —H--—--—ft-—— -~ —— -~ ——ti——--——-Fb— - —— -t~ —— -t - —— -~ -~ —— -~ —|--—+
4+ -~~~ i-— - "—"—"++r-—— 1" — 1 \-—— " ++*+— " " ¥ " " A7+~~~ rt T -t T tITT 1
= I |1 I I I 1 |1 a |1 I 1 I I |1 |1 I I
% o . I |1 I I I 1 |1 |1 I 1 I I |1 |1 I I
= .| &% | || N I 1 \9/ 11 I | | || || | |
Z S ¥l g . | | | STIFFENER — | | | |l I I |l I I I I I |
g |2 = — | N /ll | || N N || I I N N I |
~ | O o~ | o I |1 I I I 1 |1 |1 I 1 I I |1 |1 I I
Slw =3 = I 1y A g Py [ O [ Ay AU [ Mgy |
o | 2 o = e s e o | e [ s o O S Y N ) Y S
] v | o = | |1 |1 | |1 |1 |1 |1 |1 |1 |1 |1 |1 |
Rl o JN O i i i i i |
= S
s | || O L S 1 I | i i i i D
= —
g = > w I |1 I 10 I I 1 |1 |1 I 1 I I |1 |1 I I w
o | I I | I I I I I I I I I 1l | oPPOSITE
| | 1 |1 | | 1 | 1 | 1 | 1 |1 |1 | 1 | 1 |1 |
= 0 I B B B B i i B B o
e | I . IR i i I i .
I Z& | || I || || | || N N || || N |
— o= | | I I I 1 |1 |1 I 1 I I |1 |1 I I
= | |1 || | |1 |1 |1 |1 || || |1 |1 || |
‘ I I :\ I I I 1 |1 |1 I 1 I I |1 |1 I I
Ly L\ Ly L] L] L] L] L L L] L] L |
\ /
N \ f 1
N N 26 — 16 GA, METAL STUDS @ OPPOSITE
= @ 16" 0.C. Digitally signed
- PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
e —— LONGWOOD, FLORIDA 32752
THE WOOD BUCK FRAME DETAILED IN THIS DRAWING i P 21807 121507
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED 2022.03.17 e
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION. QNS 63447 -04'00" SAF METAL FABRICATION
o e [ MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
AMERICA, INC.
PANEL ELEVATION Robert. Amoruso, P E. TES B M e T o
FL P.E. No. 49752 m DRAWN ALPOLIC and ALPOLIC/fr

TARE CHANGE T0 WITSUBCSHY CRRMICAL |

ATERIAL
4MM & 6MM ALPOLIC

COMPOSITE WALL PANEL SYSTEMS

" 1 L
= - 7 | RJA [ 4/14/17 | cowosries averaca
3/ 1 O 6 TRIA [ 4/24/1% | wowre 70 comeowr cazra & e 7 F|N|38,(44MM ALPOLIC/fr ENGINEERING |\ 11111102
5 [RJA | 6/10/12 | voee o 20 rec PROJ MGMT
4 TH | 1/09/12 eraueuss pusics couPostes ws uTsiesH CMcL
T TH [ 9/o4/08 SROBIETN
REV. BY DATE CHANGE DO NOT SCALE DRAWING

SIZE

B

CAGE CODE DWG NO.

REV
MPCA0001 7

SCALE SHOWN

[sieer 8 OF 11




#12 X 1 1/2° HNH WOOD SCREW
@16" 0.C. TO MAN STRUCTURE

2 X 10 WOOD BUCK FRAME
CONNECT FRAME TOGETHER WITH
(3) 5/16" DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

ATTACH EACH STUD TO TRACK
W/ #12 x 1 1/2" HWH

TW BUILDEX TEK SCREWS
WO (2) EA. SIDE

1/2"

—1}—\

16" 0.C. TYPICAL EACH PANEL

/<'_ !
#10 X 17 HWH TEK SCREW

4MM OR 6MM ALPOLIC
OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

385008
STIFFENER

ATTACH STIFFENER TO PERIMETER /

EXTRUSIONS ON EACH END WITH
#10 x 1" HWH TEK SCREW

DOW-CORNING *1199 /

SILICONE SEALANT

38499A /

RETAINER

[
H
N1

i

|

— <

N

l——2"

=

2 14
MIN. =

l—— 2 1/4" MIN. ——

ls— 6" X 16 GA.

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

PLASTIC SHIM SPACE
(AS REQUIRED)

37893 TEE
ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)

GALV. STEEL STUD

16" 0C.
71"\ DETAIL
W SCALE: 6” = 1

=

=

| _— PLASTIC SHIM SPACE

[<+—— GALV. STEEL STUD ==

5/8" — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ #8" x 1 5/8" BUILDEX

SCREWS @ 16" O.C.

#12 x 1 1/2" HWH TEK SPACE
16" 0.C. (FASTEN TO STUDS)

(AS REQUIRED)

6" X 16 GA.

16" 0.C.

/ 2"\ STIFFENER DETAIL

/

SCALE: 6" = 1’

NED

TO PANEL (TYP.)

#10 x 1” HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

37899 MALE .
ALUM. EXTRUSION 2 /4
SHOP ATTACHED MIN.

ANY

5/8" — (5 PLY) PLYWOOD FASTENED
TO STUDS

W/ 8" x 1 5/8" BUILDEX

SCREWS @ 16" 0.C.

A\NERANEINN

\ #12 x 1 1/2" HWH TEK SCREW

16" 0.C. (FASTEN TO STUDS)

\ PLASTIC SHIM SPACE

(AS REQUIRED)
BACKER ROD
AND SEALANT
l@———— 6" X 16 GA. —_—
GALV. STEEL STUD
16" 0.C.
37894 FEMALE
ALUM. EXTRUSION
SHOP ATTACHED
TO PANEL (TYP.)
\\Qj SCALE: 6" = 1’
Digitally
signed by
Robert J PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
LRSS | (600D, FLORIDA 32752
Amoruso Y ol 4 = FBPE C.A. NO. 25935
. Phone: 321.690.1788 Fax: 321.690.1789
Date " Email: info@ptc-ac);rp,com
2022.03.17 SAF METAL FABRICATION
. . ! ! [ONESS OTHERWISE SPECIFIEL
16:34:58 -04'00" [reoermeeere comTeTTO MITSUBISHI CHEMICAL COMPOSITES
TOLERANCES ARE:
FRACTIONS DECIMALS ANGLES AMERICA, INC.
Robert J. Amoruso, P.E. + o132 Xt 01t R
’ XXXt .005 APPROVALS DATE
FL P.E. No. 49752 P SR ALPOLIC and ALPOLIC/fr
4MM & 6MM ALPOLIC
g gﬁ :ﬂ:ﬂllw & 4MM ALPOLIC/r ERGNEERIG | 02 COMPOSITE WALL PANEL SYSTEMS
i '?I_JI:IA T;;?;:: |m'::m-..-|m e PROJ MGMT SIZE | CAGE CODE DWG NO. REV
3 | TH | s/04/09 PRODUCTION MPCAODO! 7
REV. | BY | DATE | CHANGE DONOT SCALE DRAWING SCALE_ SHOWN] [sieET 9 OF 11




THE WOOD BUCK FRAME DETAILED IN THIS DRAWING
IS FOR TEST PURPOSES ONLY AND IS NOT INTENDED
AS A RECOMMENDATION FOR ACTUAL CONSTRUCTION.

2 X10 WOOD BUCK FRAME
CONNECT FRAME WITH
(3) 5/16” DIA. LAG BOLTS

DOW CORNING #795 SILICONE
SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)

6" X 16 GA.
GALV. STEEL STUD
16" 0.C.

]

#12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)

SHIM AS REQUIRED

5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
W/ 8" x 1 5/8" 9-12 BUILDEX SCREWS 0.C.

21—

V\\

'LLiJ'

f————— 37893 TEE

ALUM. EXTRUSION

TO PANEL (TYP.)

SHOP ATTACHED

AN

fp—

Vi

1/2" |=—

\ 4MM OR 6MM ALPOLIC

OR 4MM ALPOLIC/fr
ALUMINUM COMPOSITE
PANEL

#10 x 17 HWH TEK SCREW
16" 0.C. TYPICAL EACH PANEL

7“4\ DETAIL
w SCALE: 6" = 1'

"i.m:m“"

CENTERLINE OF

CENTERLINE OF

METAL STUD

PANEL JOINT

6" x 16 GA.
GALV. STEEL STUD
16" 0.C.

B

16:35:09 -04'00'

— #12 x 1 1/2" HWH TEK SCREW
16" 0.C. (FASTEN TO STUDS)
5/8" — (5 PLY) PLYWOOD FASTENED TO STUDS
SHIM AS W/ 8" x 1 5/8" 6-0 BUILDEX SCREWS 16" O.C.
” REQUIRED

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES
TOLERANCES ARE:

) L=
L
“EE]]‘LH%D, 37894 FEMALE
—] ALUM. EXTRUSION
2 1/ 37899 MALE SHOP ATTACHED
MIN. ALUM. EXTRUSION - ] TO PANEL (TYP.)
SHOP ATTACHED ) lf
TO PANEL (TYP.) —ottt +'iE El' Hi—
==z {
1/2" —= l—
10 x 17 HWH TEK SCREW —— DOW CORNING #795 SILICONE
16” 0.C. TYPICAL EACH PANEL SEALANT & 3/4" DIA. OPEN CELL
BACKER ROD (TYPICAL)
wmne, - Digitally signed
B, / "5\ DETAIL
5 S, by Robert J
D -.,‘55',_ w SCALE: 6" = 1’ PTC PRODUCT DESIGN GROUP, LLC
192 PO BOX 520775
‘(‘J&/ ) tx 2 Amoruso F'_— LONGWOOD, FLORIDA 32752
‘oS . L FBPE C.A. NO. 25935
STAYE OF ,:;55 Date: Phone: 321,690,178 Fax. 321.690.1789
- ._.' NG S Email: info@ptc-corp.com
NiometiSE 2022.03.17
sy JOMAL Ene SAF METAL FABRICATION

CONTRACT NO.

MITSUBISHI CHEMICAL COMPOSITES

FRACTIONS DECIMALS ANGLES AMERICA, INC.
Robert J. Amoruso, P.E. + o132 XXt ot toap
! XXXt 005 APPROVALS DATE
FLP.E. No. 49752 T ——— - ALPOLIC and ALPOLIC/fr
RIAT 474717 e ome mmmcomn ovmmoes | 5 it ALPOLICH COMPOSITE WALL PANEL SYSTEMS

RUA | 6/10/12 [mermware

FINISH

TH 1/09/12 ATSIEH PLASICS COMPOSIES WAS MTSUBISH CHEMOAL
TH | 9/04/09 | s oo woox kv W RO

MS 11/11/02

PROJ MGMT SIZE | CAGE CODE

jull (B0 S (8 s )

-]

BY DATE CHANGE

DO NOT SCALE DRAWING

PRODUCTION

DWG NO.

REV
MPCA0001 7

SCALE_ SHOWN]

[sHeer 10 OF 11




ﬁ 1.001”
243" —| |—
1687”7 |LJ 047
b 73
‘_ .
. —Hl— .094
‘| —| |—
ACM TERMINATOR

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37893
Area = .265

Wt./Ft. = .318

Perim. = 5.483

Circle Size = 0-3

Ix = .078, ly = .011

Sx .070, Sy = .018
Cgy = 1.116, Cgx = .628

—{ 1.935"

| 997" H—
388" [L__J— 1

” t ;' t
1.688 f
, 1.024”
712

125" —||— f f
ACM FEMALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37894

Area = .499
Wt./Ft. = .599
Perim. = 9.154
Circle Size = 0-3

Ix = .100, ly = .161
Sx = .086, Sy = .120
Cgy = 1.160, Cgx = 1.348

831"
S f
¢.593” 1 , 27
1.472
673"
| )
— 1.552”7 |=—

RETAINER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—38499A

Area = .4610

Wt./Ft. = .542

Perim. = 9.4387

Circle Size = 0-3

Ix = .095, ly
= .09, Sy

= .1
= .1

9147

*

T 1.288"
735" {

f—»|——.125”

ACM MALE

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—37899

Area = .234

Wt./Ft. = .281

Perim. = 4.646

Circle Size = 0-3

Ix = .039, ly = .012

Sx = .048, Sy = .019
Cgy = .819, Cgx = .633

‘\mu wn,  Digitally signed
4

\‘\‘,. 2
1 i"’f@ by Robert J
22 Amoruso
Date

fomeielS 20220317
.;," NA A\

P5a5apandtt® g 16:35:33 _O4l00'

062" '

88" . 1.25
t 1 25
1.75”

PANEL STIFFENER

EXTRUDED ALUMINUM 6063-T6

Die Data: #SAF—38500B

Area = .325

Wt./Ft. = .390

Perim. = 9.749

Circle Size = 0-3

Ix .081, ly = .049

Sx .120, Sy = .056
Cgy = .676, Cgx = .886

PTC PRODUCT DESIGN GROUP, LLC
PO BOX 520775
AR AR | )\G)/00D, FLORIDA 32752
Y ol A L FBPE C.A. NO. 25935
Phone: 321.690.1788,Fax: 321.690.1789
Email: info@ptc-corp.com

SAF METAL FABRICATION
%Eﬁ%@gj}gﬁ.ﬁiﬁi?m CONTRACTNG. MITSUBISHI CHEMICAL COMPOSITES
FRACTIONS IE)ECIMALS ANGLES AMERICA, INC-
132 XX t 01 +
XXX * 00! APPROVALS DATE
Robert J. Amoruso, P.E. R d S ALPOLIC and ALPOLIC/fr
FL P.E. No. 49752 4MM & 6MM ALPOLIC
& 4MM ALPOLIC/r N 1 T2 COMPOSITE WALL PANEL SYSTEMS
T_JRIAT 4/14/17 | couposies wemca e PROJ MGMT SIZE | CAGE CODE DWG NO. REV
6 |RJA| 4/24/14 |verate To cumment EXCTIN OF THE FEC '
5| RJA [ 6/10/12 |womm 0 nc 3oz oo rn e omme SRODUCTION MPCAQOO1 7
REV. | BY | DATE | CHANGE DO NOT SCALE DRAWING SCALE SHOWN] [sieer 11 OF 11




	MPCA0001_Sht 1_Rev7.pdf
	MPCA0001_Sht 2_Rev7.pdf
	MPCA0001_Sht 3_Rev7.pdf
	MPCA0001_Sht 4_Rev7.pdf
	MPCA0001_Sht 5_Rev7.pdf
	MPCA0001_Sht 6_Rev7.pdf
	MPCA0001_Sht 7_Rev7.pdf
	MPCA0001_Sht 8_Rev7.pdf
	MPCA0001_Sht 9_Rev7.pdf
	MPCA0001_Sht 10_Rev7.pdf
	MPCA0001_Sht 11_Rev7.pdf

		2022-03-17T16:33:22-0400
	Robert J Amoruso


		2022-03-17T16:33:37-0400
	Robert J Amoruso


		2022-03-17T16:33:50-0400
	Robert J Amoruso


		2022-03-17T16:34:00-0400
	Robert J Amoruso


		2022-03-17T16:34:11-0400
	Robert J Amoruso


		2022-03-17T16:34:26-0400
	Robert J Amoruso


		2022-03-17T16:34:36-0400
	Robert J Amoruso


		2022-03-17T16:34:47-0400
	Robert J Amoruso


		2022-03-17T16:34:58-0400
	Robert J Amoruso


		2022-03-17T16:35:09-0400
	Robert J Amoruso


		2022-03-17T16:35:33-0400
	Robert J Amoruso




